Quiz #5 Math 181 Name: /(gy

11/4/20
Scan your work into one single pdf file.
Check your file includes every page that you want to turn in.
pdf file must be readable (without any shadow or dark spots)
This quiz has to be submitted by 7:35pm tomorrow (Thursday 11/5/20)
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Show all your work clearly. No Work, No Credit.
1. Solve the following differential equations: (10 pts)
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2. Sketch with direction by eliminating the parameter. (8 pts)
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3. Find equation of tangent line to the curve {x \/_Jr att=3.
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4. Find arc-length of 3 for 0<t<3 (5 pts) dxX ,LC&;Q_,HB._Z: 24t ]
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Sketch the graph of 1, =5 and r, =10cos(36) on the same polar coordinate. Then setup integrals for

areas of the following: (10 pts
g (10pts) point {( rokrechios
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6.

Determine the limit of the following sequences: (12 pts)
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